2st7| 7|4Hol =& o|l) 2/ ¥ EHEfek
(1)td (== )z ©ItA
o s odod A 2 AHE J|1E -
If =t s ) __=x et - LTS
pakcl Olaf | AILH 22| 2o iR | AHE 7IE oz | B B
1 Al o] Al ofdA ke | O 4,1, 7 4 3} 74~75%
2 | Al Se] WALS oA Sl O (9%1E) 5, 3, 3 5 = T6~77%
3 T 5= u8l 27k O ~ 5 = 80~81%
. gk gtom
4 FE vl =2k O ofel] = 6 4 & | 80~81%
s
5 | 10°] =& teIE &l E7ka O @ 5 = 82~83%:
6 1004wl E7ka. O 6, 4 5 = 84~85%
7 10 o] gall E7k8(2) O @ 6 = 88~89%
8 2 A 308 adolEzte O >< 4 3 | 96~99%
9 9 A] 30%-2 Lozt O ohF = 5 = 96~99%
10 TS 3 g Bk O O () 4 3t | 102~103%
o 17wk gror
11| = vdellM 2 ol =748 | O D5(@ 20,3 | 4 o % | 108~109%
=
12 | g ol 412 2o} B712 | O 1 4 3 | 110~111%
13 | I~ widazollA] f2ke 2o} B7kg. O ) 6 A 110~111%
10% ol sl =) ==
14 Fesiel meish7k=rIR | 13 5 3 | 118~119%
3 Bk
15 SIS 8l E7k8(D O (1Z4E) 4, 15 5 %= | 120~121%
16 SIS 8l E7k2(2) @) () O © 5 Z | 122~123%
17 SIS 8l E7k2(3) O 11, 12, 13, 1 5 % | 124~125%
18 wALS- 3 B7k8(2) O © 6 % | 128~129%
o} ulo
19 WS ol 27k8(2) O ol =z 6 | "Taa | % | 128-129%
=
20 WAL 3 B712(3) O ($1%5E) 6, 8, 6 5 %= | 130~131%

4. ) oJHU7E AL 241 go] 77joar vt 47elu R 7Skl 47) o] lem & 7Elal 8, 9, 10, 119UT] ueh A} 921 2
B 1Y (&) 1170

14, 7F 2 A== 69Ut web 14-6=8¢]uck (8




